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olate, AT Of&iog SToter Ji9 (truth value)

fAdfgdavVe € S,z +3< 8


https://dl.doubtnut.com/l/_2fz1uEQomuT3
https://dl.doubtnut.com/l/_8wTrJeCx1ZLp
https://dl.doubtnut.com/l/_J6TLKvaqiAJY

° Watch Video Solution

95. ¥ 3Wl, S=4{0,1,2,3,4,5} dua Gp,

olate, AT Sf&iog STotel Ji9 (truth value)

Afg PV € S,z +4 > 5

° Watch Video Solution

96. I 3Wl, S=4{0,1,2,3,4,5} dua Gp,

olate, AT Sf&iog STotel Ji9 (truth value)

fAfg P dz € ST@z + 2 = 83|

| |


https://dl.doubtnut.com/l/_J6TLKvaqiAJY
https://dl.doubtnut.com/l/_5K37rsgEbHtR
https://dl.doubtnut.com/l/_60LOQilqzgUU

& Wwatch Video Solution I

97. I W, S=1{0,1,2,3,4,5} 4ua (D,

olate, AT Sf&iog STotel Ji9 (truth value)

APz € STz + 7 > 12

° Watch Video Solution

98. fA(Y dng (PRHBIG Sfed At faat fAdfy
I Vo €N, (22 +z+41) 936 @IfeTd

YT

l ° Watch Video Solution


https://dl.doubtnut.com/l/_60LOQilqzgUU
https://dl.doubtnut.com/l/_7QMQ1eCwlkK8
https://dl.doubtnut.com/l/_1yx9lmyu1CqO

99. fATY dng @IWOTIPS Sfeg At fagr fAdg

IWE[ dz € N Q46 T 32 = 12]

o Watch Video Solution

100. fATY dng @IIfoTIES Sfed A faat Ady

PWA{Ve € N,z + 5 > 4}

° Watch Video Solution



https://dl.doubtnut.com/l/_1yx9lmyu1CqO
https://dl.doubtnut.com/l/_jvdw285zGOfi
https://dl.doubtnut.com/l/_W4McdXKPwCAj

101. AT dng @I HIES Ofeg At fagt Ady

PELPK WIFOGHa MIYRI O A 2e], dxz € A

ATAGIE (F, ¢ a9 34 e 3T STTix)}

o Watch Video Solution

102. fATY gug @I DIES Sfed At fadr Ady
IEH{ Jzr € RAFASI@ T z 97 FA Jem)

[QLTH R 2T IRBI MY Y= 6]

o Watch Video Solution



https://dl.doubtnut.com/l/_dQ3aqBoPniY8
https://dl.doubtnut.com/l/_TMfgCWBAOKbT
https://dl.doubtnut.com/l/_XAIrBCwMaW9D

103. A6 dng @ifss Cfed At fagl @

447=119R3+5 <9,

° Watch Video Solution

104. A6 dwg @ ifsId Sfea A1 fagh @haYx

e ooz a3 9YA ST,

o Watch Video Solution



https://dl.doubtnut.com/l/_XAIrBCwMaW9D
https://dl.doubtnut.com/l/_JdGEP2F4kQ3G

105. A6 dng [ ifF Sfed At Tl @ adio

SIS SRYTIF Jst I Tl SIAT HATID,

° Watch Video Solution

106. A6 dwg @ ifss Sfed A fg @t

4+7 <109Yqt5 + 7 > 12,

o Watch Video Solution



https://dl.doubtnut.com/l/_oz91m6APF1sd
https://dl.doubtnut.com/l/_ydOMlrHHYqgm

107. AIt6 dwg @ifsd Sfed At fagr @hgm

ABC a31% >1ufgdie fags 28, 0W@ gfdd B 8 C

@I 75 T 2@,

o Watch Video Solution

108. A6 dwg @IS Ofeg Al fagr @hgm

8 > 92V 12 < 102,

° Watch Video Solution



https://dl.doubtnut.com/l/_UfhdE1hi9hmQ
https://dl.doubtnut.com/l/_lBLHzknElQDM

109. A6 g @ ifsd Sfed At feal @LhP 8 Q
015 1B NI 2 IM AR (@Iega I P C Q 3

Q C Py,

o Watch Video Solution

110. 16 awg @fsid Sfesd At Tl @It |z| < 3
EIM AR @dda Imx > —3 9% = < 3

|

o Watch Video Solution



https://dl.doubtnut.com/l/_f0CeqfN9VWcr
https://dl.doubtnut.com/l/_viWrX5joA5nT
https://dl.doubtnut.com/l/_QG5wbtIH1Fmc

M. fATT dug OfHiod 9ot I61? B:"72 Ui

4 930 9 eI BfTedH|"

° Watch Video Solution

112. A dug SfHfog W@yl TB1R F9:"120

STeLTiB 15 932 9 Sergd sfdew!”

o Watch Video Solution



https://dl.doubtnut.com/l/_QG5wbtIH1Fmc
https://dl.doubtnut.com/l/_tL8sTdfjXAPN

1m3. Ay dng Sfefod Weol IHR I
3+ 4i(i = /—1) IBI >eY @Ar aft 9o

Sifbet el

o Watch Video Solution

114. ATT 9na Sf&6d (9ot TI61? B:112 JeUTif

5 ®AdT 9 99 BfIeH|

° Watch Video Solution



https://dl.doubtnut.com/l/_OY5jPCzNZpJO
https://dl.doubtnut.com/l/_fbS5lvPiQsSC

115. fAtY dng Sf&fbd ([YeT A6 FI:TM a 3 b
75 fATSIG BT YT 2, O ab 936 [Sis

ORI SRYTT 20|

o Watch Video Solution

116. AT dwg ©feibd (A9ot THiR FI:TM a 38 b
6 YT MLUTT 997 T , ab 936 [ adT

ST, O a, b [ATSIG B3 51Tt 2d|

o Watch Video Solution



https://dl.doubtnut.com/l/_X4ejtiM3Wume
https://dl.doubtnut.com/l/_QYj4Ywojy22Y
https://dl.doubtnut.com/l/_eerZ8CP6ozae

117. 59T 9%fo (direct method) ST @ AT

gna (Jifsie Sfed [@goi(validity) T612 B9:"TM
A0 MBI M 987 =T @, 223 + bz = 0,0

x = 02"

o Watch Video Solution

118. [A & 4~TID dmfG(contrapostive method)
SISt S AT dug (@difd Sfed ([@eoi(validity)
qBIR II:"IM . 96 IV ML 9897 W (T,

223 + bxr = 0,0d x = 02[I"

o Watch Video Solution



https://dl.doubtnut.com/l/_eerZ8CP6ozae
https://dl.doubtnut.com/l/_QCOm2GST8D2G

119. ST=RIREIGT 9%fG (contradiction method)

gt W AT gug @dIfd Sfed ([@eol(validity)
q612 I3:"IM ¢ 9H6 IBI MYTT 987 37 (,

223 + bxr = 0,0z = 02"

o Watch Video Solution

120. f@m 9P  Ad&mfod(contrapositive

method ) gTIT (T8 (T AT dmg <19 Ppd


https://dl.doubtnut.com/l/_QCOm2GST8D2G
https://dl.doubtnut.com/l/_9u1c3AwBsQ5O
https://dl.doubtnut.com/l/_aymU4BWQpGwc

st SfF SToT: I 2 aBB TUT FUT 932 2

SIS 28, B & 97 F143 ST 2|

o Watch Video Solution

121. 931 I @, A6 T @B Sfe
SToT: SIS T ¢ (GG 3@ "I 932 @deTdia

T 22 (SIS ST 2|

o Watch Video Solution



https://dl.doubtnut.com/l/_aymU4BWQpGwc
https://dl.doubtnut.com/l/_ud7d2z8i6i9q

122. 43717 Q@G &6 St (using method

of contradiction) (413 (T, +/2 FeTn YT 7|

° Watch Video Solution

123. ST=IREIA (contradiction) Swfeg drgist
b7 Gfed (9o AR B IW ¢ aB6 IBI

YT AR z > 42,0 z2 > 16 Q|

° Watch Video Solution



https://dl.doubtnut.com/l/_p29kS3et5tzN
https://dl.doubtnut.com/l/_kpdKNKXN58zJ

124. "9BI6 OIgetnn T 972 9BI6 Jeu JeYTid
Tafg 936 g W' St
(contradiction) dmfod NS Sfefbd (@9ol
512 I

o Watch Video Solution

125. 936 df6 Tuledtdd(counter example 49)
Y T8 @, AT gna Sf & AL 422 — 25 = 0
TAIBAC (— 3) 932 ( — 2) 99 LT @IAT S

@2

| & I


https://dl.doubtnut.com/l/_kYPgALe2Efxj
https://dl.doubtnut.com/l/_cENnUqge5Rga

| ¥ Watch Video Solution |

126. "M 936 fagow AOTHIG @H A 2T,

O fagoib FETPIA"— ST Sl (@, 92 Sfeib

Tt

o Watch Video Solution

127. "9M n 936 [ESIG ORI 2T, 8@ n
eYTB FifeTd'— aFfo dfc Tnitdd(counter
example) ARIAT 91T I &, gGha Of&ib Tof

|


https://dl.doubtnut.com/l/_cENnUqge5Rga
https://dl.doubtnut.com/l/_VSACmOCjez5Y
https://dl.doubtnut.com/l/_yZiDGk5srYON

° Watch Video Solution

1. 67 IBT3fAd BIAT stifdfod SfE?

A. TG IS YT (ST o STl
B. ! AIFT 17!
C. x Q32 y a9 (ISP eT 4 OISt @

D. 9044 ndSl I Hdl|


https://dl.doubtnut.com/l/_yZiDGk5srYON
https://dl.doubtnut.com/l/_zFEdNNMJaDkC

Answer: A

o Watch Video Solution

2. 7167 IHTS AT PG sHfifod of e 77 ?

A. 9,7 OIUIHT (210
B.IMWz € P=z € Q®, oWz C Q
C. (T APTH ngle] T

D.7+9 > 15

Answer: C


https://dl.doubtnut.com/l/_zFEdNNMJaDkC
https://dl.doubtnut.com/l/_za6lruPMZpgF

° Watch Video Solution

3. U3 93BG AT Of® p a9 Al SfH6 2@

A. (-p)
B. (~p)
C.(1/p)

D. (-(~p))

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_za6lruPMZpgF
https://dl.doubtnut.com/l/_M9PxvCFxpWwr

4. 7fG 5191 SfF p 3 q 2 @IfSP Tf® 'p 932 q'
a7 gold 3@

A.p\/q

B.p/\q

C. pimpliesq

D. pltimpliesq

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M9PxvCFxpWwr
https://dl.doubtnut.com/l/_ORMF3cEY1hLk
https://dl.doubtnut.com/l/_zPxHoMzdlDtw

5. 7fb 3deT Sfe p 3 2@, @Ifsid Sfe 'p wIAdr
a7 go1H 2@
A.p\/q
B.p/\q
C. pimpliesq

D. pltimpliesq

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zPxHoMzdlDtw
https://dl.doubtnut.com/l/_IxOnb2Q7z69q

6. 75 39T > p 3 q 2@ @Ifsid Of “Afli p @
q" 99 g01P Q-

A.p\q

B.p/\q

C. pimpliesq

D. pltimpliesq

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IxOnb2Q7z69q

7.5 3191 Sf® p 8 q 261 @If5IF SfF "p 2, M

AR (HIATIa M q 2” 97 Fo1Pb W@

A pVq

B.p/\q
C.p=q

D.p < ¢q

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_t9bLdUlJZp7z
https://dl.doubtnut.com/l/_eZ9LhDJ6Ag9C

8. T B, p 8 q I Sf@ b 7idl (of7 @ifsId

& p Vg Ip V ¢ TOTO! JIF 'F" 2T, 'OW p 4R q

Ad JoTold 4 20(d IAYTe ™

ATT

B.T,F

C.FRT

D. F,F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eZ9LhDJ6Ag9C
https://dl.doubtnut.com/l/_TgPbrARwTuyh

9. ¥ I, p 3 q I Sf@ {6 gidT (ofd @51

of& p A q Ip A g TOT01 FIF 'T" 2T, '©K p 9 q

Ad AoTold 4 2(d YT ™

ATT

B.T,F

C.FRT

D. F,F

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TgPbrARwTuyh

10. §F 3, p 8 q A1 Gf® Wb gidl (ofd
ISP SfF p = qIp = g ToT0l T 'F' T, ©W
p 9% q A AOTOIF JIF [ IV

ATT

B. T,F

C.FT

D. F,F

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JMnHQjtl9VKP

1. 9 B, p 8 q 1 &f® 1fbd Gl (Ofd (@if5id
SfFp < glp & ¢ TOTO!I X "T" 2, OW p 92
q 99 J0T0Id FI4 20d VTP ™

A TF

B.FT

C.FF

D. Ad (BIHITB2 A7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aDpRCLNF8k2U

12. 9 3, p 3 q A S 7fbd g1dT (of7 @ifsie

Sf@ p & gl W@ p & ¢ 99 Al fodl Of > 2@

A-(pNq)V(qgADp)
B.(p A\ ~q) A (g A\ ~p)
C.~(pAq)V-~(gA -p)

D.(pA~q) V(g -p)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Rqm58qEjCOv8
https://dl.doubtnut.com/l/_eSmfSPgKMDoH

13. there extsts WIS (phrase)@ (@ sHfdfEd

—

Olard GH(a TSy ©lal 2d—

A. [REIToA

B. I SRTISI

C. existential (PTG

D. universal (PIIIfRBITIG

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eSmfSPgKMDoH

14. p: 5 93¢, 7 A3 (ISIHA 11-9 "Sfe6d Al
&b 2=-

A. 5 Q32 7 a9 AT 11

B.5 932 7 A9 (ISPt 11 2 Al

C. 5 9dR 7 e (JIslpeT 12

D. 9d (BIHITB2 A7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_whHOH0D5ndh3
https://dl.doubtnut.com/l/_6wA4h5wnUeJs

15. p :[Vz eN,p* +p+29 a6 @ifeTd
M7l 92 (FITIB DI Gfed AT ol Of s 21-
AVe ¢N,p° +p+29, : 936 @D
SRYTT
B.Vz € N,p* +p+29, : 936 @f7d
YT AT
CIzeN, @@ p +p+29 936
(e ST
D. 3z € N, @IHp® + p + 29 936 @ife1d

YT Y


https://dl.doubtnut.com/l/_6wA4h5wnUeJs

Answer: D

o Watch Video Solution

16. p: I aBO AFPalq:Pem LTI ERI O
S Ir: 12 LTG5 foxlt @ ifeTd Tsmad wiites:
(-4) 8(3) 99 BIBA (-12) 99 QA IAIt:
APTICR6 A ASISTE 66 Mool T

AT

A. {TF,T,FT}

B. {T,T,T,F,F}


https://dl.doubtnut.com/l/_6wA4h5wnUeJs
https://dl.doubtnut.com/l/_ulC0t1r9hzMd

C. {T,F,F,T,F}

D. {T,T,F,F,F}

Answer: D

o Watch Video Solution

17. p: SOOI A 12 (IS FA AT 1q: T @IAT

MBS ABB AToEHalr: x QBB BT AT
AT 7x+3x= 10x TdIs:4/8 ABI6 FeTn MYTIt: x
A6 HIGD T 30T 4x<3x1SfF H6f ToTo!

RIGRIN e


https://dl.doubtnut.com/l/_ulC0t1r9hzMd
https://dl.doubtnut.com/l/_bbOuJTBIvYzL

A. {TF,T,FT}

B. {T,T,T,F,F}

C. {T,F,F,T,F}

D. {T,T,T,T,F}

Answer: A

o Watch Video Solution

18. 8Ma JIBY Gf@ el 's' Gf @ - AT 2teT $ (T Ip

f6TAg S =Y @ISt BT AT 2WIq: o AR


https://dl.doubtnut.com/l/_bbOuJTBIvYzL
https://dl.doubtnut.com/l/_XG9zWPYuN5j5

BIIM® @I Ir: ST Yq TSd1s:JFIR QU (ATD
PO DT 5146 IWTHE

A. SSS

B. S$SS

C. $S$S

D. $SS

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XG9zWPYuN5j5

19. AIt6d (PN IdT3fT Tfes? i1z Sad wia 157
It STl

° Watch Video Solution

— —

20. AI6d (@ IFT3feT TfE? Jfeor Tag wial

(O AT (ATH FADTOT FO 1d?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZskuIzKD75oZ
https://dl.doubtnut.com/l/_gf0mdLfQYxp7

21. ABJ (B IBTBA SfF? oo Gad nisIeT
9B CH Wl Feell

° Watch Video Solution

22. A6 (@ IFBfA SfF? Yfeor Tag wia
z? — 12|z| + 32 = 0 YAIBACIT 51T IBI Ao

A2

° Watch Video Solution



https://dl.doubtnut.com/l/_wuWGFWmhpXUr
https://dl.doubtnut.com/l/_fpsW799DQ1Tz

23. AIbd (PIA BTVl Tfe? Yforr Tad nis|

qTOTD AT H 9D AIATH D

° Watch Video Solution

— — —

24. 7163 (PIA IPTBfA fe? Yoorr Tad wia|

(O FeTd AGT BE|

o Watch Video Solution



https://dl.doubtnut.com/l/_8vEo3NSOFkkJ
https://dl.doubtnut.com/l/_ddV3XsSPi3gG

25. AI6d (PIA BTVl Sfe? Yforr Sad nis|
(TP STRATOT A (16 P |

° Watch Video Solution

26. 7164 (DI AdT3feT SfF? Yoo Tad nisI -

@SIA ATBIB 9H6 AIgelwia oal

o Watch Video Solution



https://dl.doubtnut.com/l/_ou49l7zWsa4Y
https://dl.doubtnut.com/l/_iTdbfmr3cF3y

27. AT (@I IFsfA SfF? Yoo Sag nis|
AB6 @Fifead YTt 2 Tl ISy 77|

° Watch Video Solution

— — —

28. A6 (PIA IPTBfA TfF? Yoorr Tad wia|

SIBICT (T AT St g8 27 Al

o Watch Video Solution



https://dl.doubtnut.com/l/_5XJ9LhIVGZMj
https://dl.doubtnut.com/l/_zGFIUS72isna

29, 167 (DI IdT3feT SfF? Yfeese Sag wia! i

Q56 735 g 77|

° Watch Video Solution

— — —

30. A6d (@I IFT3fT TfE? Jfeor Tad wial

MW ec AUBII, 0W@x € Al

o Watch Video Solution



https://dl.doubtnut.com/l/_75Ji189lYfa0
https://dl.doubtnut.com/l/_Tz2cunuQqXI7

31. MBI @A IdT3fer Tfes? Yfaor Tag wial

My c ANBWYW, oWy < Bl

° Watch Video Solution

— —

32. 7167 (P A3 SfF? Yfoor Gaa nia| 317

bUG(Sd bIAfb T S|

o Watch Video Solution



https://dl.doubtnut.com/l/_dyGoxM8mzUD1
https://dl.doubtnut.com/l/_QYWFVVUwNkyb

33. AI(6d (@A JIHTRfeT SfF? Joorr Tad wia|
AB6 IBI MYUTH 8 QBB Tifoed JYUT St 9H6

% bt YTl

o Watch Video Solution

34. AB @ AF3feT Tfes? Yfasre Tad wia|
(5AT2 AfFBIAT 9B X2 |

° Watch Video Solution



https://dl.doubtnut.com/l/_ydJsNFSuQvfi
https://dl.doubtnut.com/l/_I53qLnJEznGx

35. 164 (DI JIHTBfeT SfF? Yoo Tad wia|

7fG OIgeTn SRYTIA SIS N0T ABT6 FeTn YT

o Watch Video Solution

36. AI(6d (DI~ IPTBfA SfF? Jfoor Gad al -

@BIAT OT6 6 TPy o162

o Watch Video Solution



https://dl.doubtnut.com/l/_NrPY8tz5XMtg
https://dl.doubtnut.com/l/_lLCOz1zyV5zA

37. A6 (I I3 TfE? Yfoore Tad Wil z
STeLUTIG aBI6 o 1T

o Watch Video Solution

— — —

38. \I(6d (P IRl SfF? Jfeor Tad wal

TG TG SRYTIF SIS St 9F6 Sifbet YT

o Watch Video Solution



https://dl.doubtnut.com/l/_CAkrT3MfnurU
https://dl.doubtnut.com/l/_H2Vzd6mcUSJX

39. (DI Sf3d ( It dfoweld ) AI-fadT (negation)

IO DI @-H? aft T [P fAdy Bt 237?

o Watch Video Solution

40. fATY awa droTpio Sfed Fi-fagt (negation)

@A AR dfoGH@ gi8 ofed Jotel JiF Ay

I 4 932 5-AT TSI TA 7 |

o Watch Video Solution



https://dl.doubtnut.com/l/_rJk9LqeAoTma
https://dl.doubtnut.com/l/_oXZSFIs9vg03

41. At 9na AtETHIb Gferd A{HAT (negation)

@t 932 AfeGwE g% Ofed Sote! N fAdy

Bl 5<9

o Watch Video Solution

42. AT dng doTHic Sfed F-@AT (negation)

@t 932 9f6GwE di% Ofed Sote! i fAdy

PN AT n € N-99 GAF n-2>3 2 |

o Watch Video Solution



https://dl.doubtnut.com/l/_b2GEPnaCVCh4
https://dl.doubtnut.com/l/_BNPISeQVUPvS
https://dl.doubtnut.com/l/_hDz7pLnmze3v

43. fAtY gng goTdib Gfeed AI-fEAT (negation)

@t 932 Af6GwE g% Ofed Sote! JiF fAdy

IQRMNz? — 4z + 5 = 0 TNBAF S 75 BTN

o Watch Video Solution

44, TN gug AtoTHIb Sfed AI-faAl (negation)

@t 932 9f6GwE di% Ofed Sote! i fAdy

I IM A= {1, 2, 3, 4} 936 gWa G5 2T, O A

OT6 ABI6 91 x TE 9FAGI[ (, 22 + 1 = 10|

o Watch Video Solution



https://dl.doubtnut.com/l/_hDz7pLnmze3v
https://dl.doubtnut.com/l/_xpJxsXJSbasr

45, AT dng doTHic Sfed FI-@AT (negation)

@t 932 AfeGwE g% Ofed Sote! N fAdy

IEIN 9T BIE AToEHa @2 I SoTHio 9

I

o Watch Video Solution

46, AT dug AOTHRI0 Ofed Aot (negation)

@A a2 oG I8 ofed Jotel JiF Ay

DRI (PIAT AASTIDI W6 Bl ey S|

o Watch Video Solution



https://dl.doubtnut.com/l/_e5h8XLkOEXCS
https://dl.doubtnut.com/l/_NG5pwngbgZuz

47. AT 9w doTd6 ofed A-fagt (negation)

@A AR oG I8 ofed Jotel JiF Ay

M GRIG (eI

o Watch Video Solution

48. fA(Y dng AOTHI0 Ofed Aot (negation)

@ 932 dfoGsta dig Sfed Sotel Ji Ay
BRI 75 FrelfTd MIT BIPA aB6 Frelfdd

RYTTI

o Watch Video Solution



https://dl.doubtnut.com/l/_NG5pwngbgZuz
https://dl.doubtnut.com/l/_YMLW6hGdM6ik
https://dl.doubtnut.com/l/_mJWES8ImW6nP

49. AT dna doTHic Sfed FI-@AT (negation)

@t 932 AfeGwa di% Ofed Soter JF fAdy
PEI I 7o 616 A 8 B 984 27 ¥, A C B,

wlelc1 A U B = B2l

o Watch Video Solution

50. Yf@>iz I AId v Sfe 7o 99T 9@

O A-f@dT (negation) f& A1? (i) X x Y=Y x X

THBIG 519 BT AT x 8 y-99 GHta Novl (i)


https://dl.doubtnut.com/l/_mJWES8ImW6nP
https://dl.doubtnut.com/l/_5O23A5hOp0pi
https://dl.doubtnut.com/l/_xT1GcaYeoJBa

AT 7fb IBI LT x 8 y BIE T ST X x Y=Y X

X =156 o7 771

° Watch Video Solution

51. IfE1e AT AL ghg Ofe 7o 9751 A
@] Af@T (negation) & AR (i)
z® — 6z + 25 = 0 [GUI0 SAIBAIT (BIAT BT
IS @31 (i) 2% — 62 + 25 = 0 Tagio TABA
It 7S S|

° Watch Video Solution



https://dl.doubtnut.com/l/_xT1GcaYeoJBa
https://dl.doubtnut.com/l/_V4uy9nrL5AEV
https://dl.doubtnut.com/l/_l0sfU9IGt6kg

52. Yf@>1e et AN dmg SfF 7o 9719 9
oI9[d J-fear (negation) & A (i) 7 Sifoe
STYT AMBAI (ii) FIACFH 9B Side YT Hits

(IfB BT 7|

o Watch Video Solution

53, SHIedIe A Sfe 8 [TifsIp Sfed et Hia|

o Watch Video Solution



https://dl.doubtnut.com/l/_l0sfU9IGt6kg
https://dl.doubtnut.com/l/_ynhK44XHn9gZ

54. Sifdfod Yfed IPPR AR

(connectives) IeT(O Bt @I_AH?

o Watch Video Solution

55, Griedd W38 WIFSHLIST (conjunction) T p

8 q [ e Of e 2

o Watch Video Solution



https://dl.doubtnut.com/l/_B0wrbSEOhPbq
https://dl.doubtnut.com/l/_0GZZDgQPSaT0

56. Shladd nigs fadyg df G (disjunction)

W p 8 q BB kel Tfe 2T, O TS (@ ifsid
SfEBfeTd dolaTge GEY I

o Watch Video Solution

57. Guiedd migs “ IMOE@ WPIfo” (ifthen

implication) I, M©3Yb6®d Gf& (conditional

statement) I p 8 q 6 WA SfF W, O

TAfIGE ([ if5Id Sfeafar doieTge Sge I

o Watch Video Solution



https://dl.doubtnut.com/l/_GvUjCgksQDTA
https://dl.doubtnut.com/l/_88hNAS2Cw7HD

58, Tnledd W33 fGXebd I THQelT Ofe 2

(bioconditional) d, (equivalent statement) I

p 8 q 4 A1 Of® 2¥, 0@ THfASm (@ ifsid

SfEBfeTd doldTgr GEY I

o Watch Video Solution

50, AT dug dorpid @ifde ofea Tt

—

SfRfeT (eTrY13 9YA JE JATTR 972 9UA STl

o Watch Video Solution



https://dl.doubtnut.com/l/_88hNAS2Cw7HD
https://dl.doubtnut.com/l/_WprE3Mga6odd
https://dl.doubtnut.com/l/_tKkYwJ7BUIni

60. ATy dng doTRic @ ifsd Tfed Tstex

Sfeasfer (eTrats JfAFT (SHeAiPIF a3 BB e |

° Watch Video Solution

61. AT dug doTaic Cifsie Sfea Tstext
SfEafd @le 840 MYUTfs 7, 4 432 5 HiAt

I

° Watch Video Solution



https://dl.doubtnut.com/l/_Rqw9sPQoaKmD
https://dl.doubtnut.com/l/_kppELmyWA6ei

62. AT dwa dETad Cifsic Sfea et

—

O

afT @ 7o 9Foey KRARYT W

A BATeT WA ©Idr AB(6 [F¥o (@0 B!

o Watch Video Solution

63. AT dwa doETad Cifsic Sfea et

—

O

2feT (CTIYI8 /3 ABIG ot MRYUT WIAT aHI6

O eTh SRYTTI

o Watch Video Solution



https://dl.doubtnut.com/l/_rqfR6ty0rzLX
https://dl.doubtnut.com/l/_tkFmqfAmouCS
https://dl.doubtnut.com/l/_0tEluR6sGCK4

64. AT dug droTaic Tifsis Sfed Tsext

Sfesfd @wie 315 euTfe 7 wAdt 9-ad

BB

o Watch Video Solution

65. AT dug droTa® ifie Tfed Ttex

—

Sfe il @is I 9511 27, B 81<1211

° Watch Video Solution



https://dl.doubtnut.com/l/_0tEluR6sGCK4
https://dl.doubtnut.com/l/_PUM1d5RWCaPd

66. AT dwa dETHd Cifsie Sfea et

Sfessfer eTrdis I 73452 eU7ife 3 gidt fsiay
3g, O ATiog wrgsfo arEsfad Tafsa T 3

7t fAeieT 2|

o Watch Video Solution

67. Aty dmag dAETHIc @ifsIs Sfed TR
GfeBfel @Tis A 8 B OT6 G I 20|, Il 432

@Iqda I A C B3 B C A3l

o Watch Video Solution



https://dl.doubtnut.com/l/_jyxpj2dtDKx0
https://dl.doubtnut.com/l/_8bf0owkokqgS

68. Aty dwg droTdb @IS Sfed T
Sfesfd @Ts adt fags a8 [ M a3
@It I fags®d IPETEIT (equiangular)

|

o Watch Video Solution

69. AT dng gt @difdd Sfed JeTor JiH
(truth value) fA9Y Iw@IE aH6 AFITPE 70

936 e 932 a7 9o e fer S|

o Watch Video Solution



https://dl.doubtnut.com/l/_8bf0owkokqgS
https://dl.doubtnut.com/l/_wZXRGwBdKj2A
https://dl.doubtnut.com/l/_eP3H6uMtbeC5

70. AR dng deraic @i Sfed Sorel IF
(truth value) A Irars SIBH Fer 932 R

Q36 735 a |

o Watch Video Solution

71. AT dwa droTaid Gifde Sfed Jotet TR

(truth value) fA<fT SIS 9<7 932 6551

° Watch Video Solution



https://dl.doubtnut.com/l/_eP3H6uMtbeC5
https://dl.doubtnut.com/l/_XY4eFnLdZiFk
https://dl.doubtnut.com/l/_9ageoo7ymqRm
https://dl.doubtnut.com/l/_BpUTPsAiXIw1

72. AR dug droTwic @ifsis Sfed oot JiF
(truth value) fAT F@IS 35 27 4 932 3 -a9

S3fIoD |

° Watch Video Solution

73. AT dug droTwic @ifsis Sfed oot JiF
(truth value) fRT FEIS 7 72YTIT 3T TG WAL

aft RS 7Tl

° Watch Video Solution



https://dl.doubtnut.com/l/_BpUTPsAiXIw1
https://dl.doubtnut.com/l/_m27yWm5ObEt4
https://dl.doubtnut.com/l/_FdBhlZbk9m9s

74. AT 9wz goTan difd Sfed STore! JiF

(truth value) AT TEIS 957 HA]T 5<91

o Watch Video Solution

75. At dug dorat @if5e Sfed Sotol JiA
(truth value) AT S@ 3+ 4i(i = /— 1)

AP6 BT 2Tt WAt aft 9H6 SifoeT el

o Watch Video Solution



https://dl.doubtnut.com/l/_FdBhlZbk9m9s
https://dl.doubtnut.com/l/_fK6TQpK6Idvw

76. ATy gma doTaib @ifSd Sfed Setel JiF
(truth value) TAIT @3 T SIST WA BTG

eTlet|

o Watch Video Solution

77. AT dna deTab @i ofed otel JF
(truth value) fAT F@IS 100 7YTIC 6 HAJT 8-

ad 3f9od|

o Watch Video Solution



https://dl.doubtnut.com/l/_trU78LWBMHYR
https://dl.doubtnut.com/l/_uoj99u95puqc
https://dl.doubtnut.com/l/_bgSDlHVmHcgr

78. AT dna deTab @IS Ofed Sotel JF
(truth value) fAT &M IM 5 AF[AEE Freiad

ST 54732, 3 BIAT fdeion ¥, o weYTifod

a8 sfo s fora T9fSd T 3 gid! fAsie o

o Watch Video Solution

79. fAT dwa goTa® Gifste ofed JoTet IiH
(truth value) AT &I M 5 TIFRE Freiie

YTt 53632, 3 TIAT fIeioy 2™, B SeYTiod

aIgsio AR fad T8 TIF 3 gl ]IS 2@|

o Watch Video Solution



https://dl.doubtnut.com/l/_bgSDlHVmHcgr
https://dl.doubtnut.com/l/_T1DtgttjNmzC

80. AT dna droThid  ifsis Sfed Tote! JA

(truth value) fAT &M IM 5 AFAEE Freild

ST 54732, 3 FIAT fdeion ¥, o weYTifod

a8 sfo amsfad fsd J17 3 9t f[Aeiey 2@ At

o Watch Video Solution

81. Ay dng drorpiv  ifsis Ofed Jote! JA

(truth value) A9Y T@T: IM 5 TIFRIEE Freild


https://dl.doubtnut.com/l/_T1DtgttjNmzC
https://dl.doubtnut.com/l/_9763eLPv3gzM
https://dl.doubtnut.com/l/_9y64p4dGAO55

STt 53632, 3 Gidl Aoy 39, ©@ MeUTifod

oI35 eI fad afed TiF 3 gidt fIetay 2@ At

° Watch Video Solution

82. Aty dug droTnio @S Sfed oot TiA

(truth value) fAfY I@E: @A bR 9B

AABIP 6@ IW 932 (@dTgla I bQgeibd

fdte e a1 SR 27|

° Watch Video Solution



https://dl.doubtnut.com/l/_9y64p4dGAO55
https://dl.doubtnut.com/l/_7D65f3arL5qc

83. fAty 9ng deTaib  ifse ofed JoTer JiF
(truth value) fAIT @ 657 2@ IM AR

ddeTaia I 4<7 2

o Watch Video Solution

84. fATT dng droTdd @If5IE Ofed ToTel JiH
(truth value) fA9T @ 15517 2@, IMm AR

dderata Tfm 11<10 2|

o Watch Video Solution



https://dl.doubtnut.com/l/_6TwVCWx8zkd1
https://dl.doubtnut.com/l/_WfcOdHM8cmHH
https://dl.doubtnut.com/l/_9fBLmCIbwJN8

85. At dng gwormic [ ifse Sfed Toter N
(truth value) fRIT F@E: 17<14+5 2@, IM a3

dJdorata g 12517 271

o Watch Video Solution

86. AT dwa dETdd Cifsic Sfea et
Ofesfad Ay d@ 9@ dfeGwa s Q,

sitext Ofe3fad T @Al =S A@z: @IET

(FifeTd Tt TG 932 AT (SHeATPpfo|

o Watch Video Solution



https://dl.doubtnut.com/l/_9fBLmCIbwJN8
https://dl.doubtnut.com/l/_YDzXzmlvGD9c

87. AT dug drordic Gifsds Ofea et

Ofeasfad Ay d@r 9@ dfoGea s Q,

Tt SfEs3fad LT @A T35 [@3: 6 U6

4 5171 (BT (216 932 T aBI6 A5pal

o Watch Video Solution

88. YUY Jf@MR I b dordio @D

Sf@ (o U)J@\élr:'p WY (inclusive 'or') I Ifegla®

‘WY’ (exclusive 'or') ITITO 2d: ?l%?f N oIt

JAQId 2t SIIHIT SIfp & 1D

| & |


https://dl.doubtnut.com/l/_Cnk26f4uqudy
https://dl.doubtnut.com/l/_LCDTtoyFUUbM

| ¥ Watch Video Solution |

89. YA YfFMR Il B dordio @D

e W

(o Pgfa ‘@AAT (inclusive 'or') Il Iegla

G]AT (exclusive 'or') IA@® Y: 72 MUTD 4

&R 9-99 390D |

o Watch Video Solution

90. TAIY Y&z I ANbd dordpio @D

S0 TBGfa GAAT (inclusive 'or') It Ifegf®

‘@Y (exclusive 'or') ITIT0 2Y: Blaiqldl B


https://dl.doubtnut.com/l/_LCDTtoyFUUbM
https://dl.doubtnut.com/l/_MiPl7bdlHoJG
https://dl.doubtnut.com/l/_IPukCQFAw3z8

ufoflde 97 foNw sifde w1dt SikfkdssiA A

216]

° Watch Video Solution

91. IYY YR I b4 AOTDI6 @If5ID

@0 BIgef® @AM (inclusive 'or') It gl

@RI (exclusive 'or') IKz0 2Y: AT 16T
TAT (DIAT e APIAG WAQT (S1619 identity

BIG A

° Watch Video Solution



https://dl.doubtnut.com/l/_IPukCQFAw3z8
https://dl.doubtnut.com/l/_X9NnIOIXSxJO
https://dl.doubtnut.com/l/_LtUmBh5eEbiC

92, YUY YfFR @l ANBI dordio @D

@0 BIggf® @AM (inclusive 'or') It dfegfa

‘G (exclusive 'or') I7q270 24: 9511 WIYJl 7<10|

° Watch Video Solution

93, YA YfFNR @ ANBI dordio @D

@0 BIgef® @AM (inclusive 'or') It gl

‘O’ (exclusive 'or') 9O W: Eﬁ? IR GIGED

AT 96 (o v @ @ oidt

TATZJIeT|

I ° Watch Video Solution


https://dl.doubtnut.com/l/_LtUmBh5eEbiC
https://dl.doubtnut.com/l/_7of9sRMdjaA9

94, MG SIS “affr.., ©[..” TqfFw Ao

Ofe AT 915 9B @t g @12l dva ©fed

S wfeq: I aBi6 1Yt 9-97 396w 37, B[

s1eelTifB 3-99 3fded 3|

° Watch Video Solution

95. ABISIHANIIA (existential) BITIBHIT
A32 SIS (universal) (SITHBHITT IeT®

DI (@I O TrlagIdz @IS |



https://dl.doubtnut.com/l/_7of9sRMdjaA9
https://dl.doubtnut.com/l/_0Qtp2vm54Osy
https://dl.doubtnut.com/l/_q2wTaFa8Sfvr

Watch Video Solution

96. T B, A={2,3,4,5,6,7} 916 9ng OID, BI(H,

I AOTHRI6 Ofed Jotet JIA (truth value)

AT d@: Iz € AQTAG@ A, = + 4 > 111

° Watch Video Solution

97. 5 3@, A={2,3,4,5,6,7} aBI0 dng 75, Bi(d,

ABd AOTHRI6 Ofed Jotet JA (truth value)

AT d@: 3z € A ATTSIQ I, x-2=61

| €8 |


https://dl.doubtnut.com/l/_q2wTaFa8Sfvr
https://dl.doubtnut.com/l/_3pHtGyFVdxp6
https://dl.doubtnut.com/l/_MoJUnAbD9fgY

| ¥ Watch Video Solution J

98. ¥4 I&I, A={2,3,4,5,6,7} 9BI0 dWa (T, BI(e,

Fod droTa®c Sfed Joret JiA (truth value)

AT d@: Vo € 4-a35 Tz — 1 < 6l

o Watch Video Solution

99. ¥ I&I1, A={2,3,4,5,6,7} 9BI0 dWa (T, BI(e,

Fod droTa® Sfed Joret JiA (truth value)

AT I Vo € A-a3 TAT x+255]

o Watch Video Solution



https://dl.doubtnut.com/l/_MoJUnAbD9fgY
https://dl.doubtnut.com/l/_Qfz8JoZukn1O
https://dl.doubtnut.com/l/_jVqg5fgRpJbi

100. AT dng doTab @UCPIPG of e -

@Al (negation) AT B {Iz in R TSI @

X 2T BIgeTh} [AUTTH R 26T JIBJ SRYTII I G0 |

o Watch Video Solution

101. fAY dng dEib @REIfAHIEy Sfed Al
f@TT (negation) T B@I: {TM 37 ©IYS AT
o6 Z 29, ©W}@ dz € Za¥-ed &, x 3T 9H6

FolfdD YT}

| e |


https://dl.doubtnut.com/l/_jVqg5fgRpJbi
https://dl.doubtnut.com/l/_rLuHAHp8Mr2W
https://dl.doubtnut.com/l/_6mDdN7DcBN6N

& Watch Video Solution I

102. ATH dmag dETdb @O HIEY ofed A
G (negation) fAdg d@h: (Ve € N -a3 &Y

2 + 41z + 41 9H0 FifeTd T

° Watch Video Solution

103. AT dmag dETdb @ HIEY ofeg A
G (negation) fAdg d@h: (Ve € N -a3 &Y

X+2>4}

l ° Watch Video Solution


https://dl.doubtnut.com/l/_6mDdN7DcBN6N
https://dl.doubtnut.com/l/_w6s59oKPyqz5
https://dl.doubtnut.com/l/_PRe0xjvb6cqZ

104. ATY dmag doTdb @HHIEy ofed A
G (negation) fAdg d@h: {Jz € N 9976

(A, 4x=24}I

° Watch Video Solution

105. p 932 q WG 9w Of® A a91T IR @,

~(pANq) = (-p) V (~9)

o Watch Video Solution



https://dl.doubtnut.com/l/_PRe0xjvb6cqZ
https://dl.doubtnut.com/l/_Lh1Gg0intb7C
https://dl.doubtnut.com/l/_1H5pZQ0gKDAa
https://dl.doubtnut.com/l/_ZPcMUje6S42N

106. p 932 q WG 9w Of® (T aFIT IR T,

~(pV g = (-p) A (~9)

° Watch Video Solution

107. p 9 q U6 wg Sfe [« a9iT Il (g,

~(p=4q) = (PN -~q)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPcMUje6S42N
https://dl.doubtnut.com/l/_OmigMRKjfSiC

108. p 932 q WG 9w OfF A aF1T IR @,

“peq =@N-q) V(¢ -p)

° Watch Video Solution

109. AT dug doTab ifsle Sfea Aot

(negation) (eTI: 5+4=9 9R 4 4+ 6 < 11

o Watch Video Solution



https://dl.doubtnut.com/l/_U5OytZ3IVKQC
https://dl.doubtnut.com/l/_chh5Cj6ePD6Y

110. R dma aETdib @ife Sfed A-fadr
(negation) (@TTYT: JT IMd 8T 932 dFoamd

[CERIR

o Watch Video Solution

M. A dug dwereic  ifsls Ofed Al-fagt

(negation) (eT(4T: 3+8<9 WIYQl 4+10>13

° Watch Video Solution



https://dl.doubtnut.com/l/_WfgMZBfvsQ4N
https://dl.doubtnut.com/l/_1bwQIkCEcnb2

2. AT awg dETdic @ifsle Sfed Aot
(negation) (Tl YAfHIT iy @A 9¢U~ JfE

Aol

o Watch Video Solution

13. Rt awg doTie @ifsle Sfed A-far
(negation) @l I ABC TN fagowd A

@I TqPIT 2T, 9@ AB? + AC? = BC? 7@l

o Watch Video Solution



https://dl.doubtnut.com/l/_wj6dySlf05G3
https://dl.doubtnut.com/l/_P3l2oUNN1tNx
https://dl.doubtnut.com/l/_JmA9PcLWfI9b

114. AT dwg doTRic [ ifsie Ofed Al-fadr

(negation) (TCYT: TM 12>13 F, B 16<15 |

o Watch Video Solution

115. AT dng dereb e ofed e
(negation) (eT(YT: aF6 faget YaAE 2@ M 93

FIeTata I fagsit Tt 23

o Watch Video Solution



https://dl.doubtnut.com/l/_JmA9PcLWfI9b
https://dl.doubtnut.com/l/_mMtS9hvs8qrb

16. AT dug dorad @ifd Ofed A-fadr
(negation) @ |z| < 5 2, IM 93 (FJITTIG

Iz > — 53,z < 52

o Watch Video Solution

— —

117. 936 o6 (conditional) Gfed [Kem-

4ATald (contrapositive) 932 fIFAdI® (converse)

IO DI @H?

o Watch Video Solution



https://dl.doubtnut.com/l/_x37wLzK5zEIT
https://dl.doubtnut.com/l/_UL9YJdohyD1r
https://dl.doubtnut.com/l/_eMJW71xYVLAL

—

[7d ("if...,

118. Aw dng “afm.., ©@.” aPjfos

then.." implecations-q) (AP T-4ATaD
(contrapositive) (©TT: M x+1=7 2T, ©W x=6

(|

o Watch Video Solution

119. Am ang “afn.., ©@.” aPjfosfaq ('if..

then.." implecations-q) (AP T-4ATD
(contrapositive) (Tt M aB6 STYTt 8 Fidt

fqeIoT 2%, B MeLTifb 4 gid! el 2@

o Watch Video Solution



https://dl.doubtnut.com/l/_eMJW71xYVLAL
https://dl.doubtnut.com/l/_Ysdxuv10O6RU

—

le7d ("if...,

120. fA® dng “aMm.., ©[..” PO

then.." implecations-q) (AP T-4ATaD
(contrapositive) (@TT: Tl a AB6 @A STt

2, O a SIS 512t 20 |

o Watch Video Solution

121. A aug “afm.., ©@.” aPjfosfaq ('if..

then.." implecations-q) (AP T-4ATD


https://dl.doubtnut.com/l/_Ysdxuv10O6RU
https://dl.doubtnut.com/l/_4DbxdIG9nV29
https://dl.doubtnut.com/l/_G7v3AMKAXo6s

(contrapositive) (T M n aB6 (ST STRYT

4, v(d n 1eUTifB 4 7idt f[Ieten 2@l

° Watch Video Solution

122. AT dug “aMm.., ©@..” aPpffosfaa ('if..,

then.." implecations-q) [P T-dATID

(contrapositive) Tl AM (SIAT FRGGH

7t JT STUSe 28, O 5ugsib 9B
AATBIED 2@l

° Watch Video Solution



https://dl.doubtnut.com/l/_G7v3AMKAXo6s
https://dl.doubtnut.com/l/_LKZ1C4zgEZV2
https://dl.doubtnut.com/l/_p7YXSsntKpPg

123. AT dug “IMm.., ©@..” aPpffosfaa ('if..,

then.." implecations-q) [P T-dATD
(contrapositive) (@l T n 9B dATaID YT

2g, O n-A9 17 BT (BT (BTGT AT

° Watch Video Solution

—

124. A dug “IMm.., 9@.." EPffosfad ('if..,

then.." implecations-q) (AP m-4 Tl
(contrapositive) (Tl I x 9BI6 BIYS FWTT 3

z? (TG 2, B[ x ABI6 GG MeYUT 2@ |

I ° Watch Video Solution


https://dl.doubtnut.com/l/_p7YXSsntKpPg
https://dl.doubtnut.com/l/_ycqupxtTJeSL

125. At dug “IMm.., ©@..” aPpffosfad ('if..,

then.." implecations-q) [P T-dATD
(contrapositive) (@ IM 9B IARIS TS
YT n, 9 BIAT fAeiow g, o MY wgsfe

e SIS 9 g1t ety 2@

° Watch Video Solution

126. AT dng “IMm.., ©@..” GPffosfaa ('if..,

then.." implecations-q) [P T-4ATID


https://dl.doubtnut.com/l/_ycqupxtTJeSL
https://dl.doubtnut.com/l/_O1DXyArNHyRr
https://dl.doubtnut.com/l/_cA5wjmhhUtmZ

(contrapositive) (eTtT: I ABC QBI6 TIEAS

fager ?, O §fi% B 3 C (@19 1b NI [

° Watch Video Solution

127. fAF gug “TMm., ©RK..” aAPfosfad (..

then.." implecations-q) [P T-dATID
(contrapositive) (eTl: dYA3 ﬁﬁ“ A AT IYA

WI9RISTT SIS

° Watch Video Solution



https://dl.doubtnut.com/l/_cA5wjmhhUtmZ
https://dl.doubtnut.com/l/_3Lyir2jzyapi

128. AIbY HOTd0 HONpd Ofed [Edo

(converse) T M x+5=9 Y, O x=4 2@

° Watch Video Solution

120. BT dETHD HOYpd Gfed Edo
(converse) @Yl I QB 1Y, 9 FIAT ]SS

2, B TG 3 7idT fTeien 2@

° Watch Video Solution



https://dl.doubtnut.com/l/_mvigeAFsupU9
https://dl.doubtnut.com/l/_48o42cmXYtoX

130. AIBI dETRIG Jopd Ofepd FEde
(converse) @l M aBI6 MY n [T 27,

B[ n> YT [RTSIG 2@l

o Watch Video Solution

131. ABI HOTD6 XOYpd Sfed o @Y
I 9SG ABC faglod C @I TIDIT 27, B

AC%+ BC%= AB? 2«

o Watch Video Solution



https://dl.doubtnut.com/l/_UypxZqrnfP83
https://dl.doubtnut.com/l/_mFgo19eBzSFq
https://dl.doubtnut.com/l/_moHblZjDXvNM

132. A6 HOTHI6 XB6d Gfed [ddio @Y
TM n a6 [RTSIT ST S1YT 27, B n YTIG
et ST

o Watch Video Solution

133. NI(64 A(OTHI6 6P ofed Ao @Y

M Of OBIO @Y FEI, O OIdATal YJ Q@

° Watch Video Solution



https://dl.doubtnut.com/l/_moHblZjDXvNM
https://dl.doubtnut.com/l/_vihDc4qVlFte

134. B HOTHG MONpD Sfed [Ede @Y

M OfF CIe TERdT W, oK) Qi sidtod

TR IRIBIRED

o Watch Video Solution

135. NI(64 ATOTBIG X6 d ofed Ao @Y

W x 3 y 76 OIS YT 9¥A 2¥ @, ST (x-y)

BB LATAID OIS FeLTT, B x>y 2 |

o Watch Video Solution



https://dl.doubtnut.com/l/_FNxGuxhEUqad
https://dl.doubtnut.com/l/_AzxGv7mcXxgX
https://dl.doubtnut.com/l/_GlqNOIjVbTFK

136. NI(64 ATOTBIG 6P ofed Ao @Y

M 7o 9P IR T 27, B ©idl

(2N PJ Al

o Watch Video Solution

137. AI6d ATOTHIb MONbd Sfed [Ide @Y

1M S 2, O ABIY I bt Ao 27|

° Watch Video Solution



https://dl.doubtnut.com/l/_GlqNOIjVbTFK
https://dl.doubtnut.com/l/_K465bRImreKq

138. AT WAL XONPD Ofed [FFH dAAID

M3l B, Af6GH@ XoNbd Gfe AT F3: IM

x!=52Y,0(d (x+4) =9

o Watch Video Solution

139. AT IWHIb XOIPd Ofed [FFH D

M3l WIR, AfoGH@ oNbd Gfe AT Fd : IM
oIy fusieT 13, ©11 IF dore Al

o Watch Video Solution



https://dl.doubtnut.com/l/_kM9RPz9SAJxU
https://dl.doubtnut.com/l/_qUEt3hlKDcQ6
https://dl.doubtnut.com/l/_4OJKGyYqU0Gr

140. fATT IID6 TOPpd Sfed [REF D

M3 TR, IfOEH@ XONbd Ofe 9T B3 : IM

QBB gATAIS OIS FeUTt n-ad W3sfo ams3fad
TS 3 T4t [RSIST A 27, O WS YTl n, 3

gidt fAsisy 2@ ATl

o Watch Video Solution

141. AT ITDO TOYpd Gfed [PH D

M3 TR, HfOEH@ XONbd Gfe 9T B3 : TM
O @A Hod @S A1 NS, O} Qi

Iy 5T Bl AT


https://dl.doubtnut.com/l/_4OJKGyYqU0Gr
https://dl.doubtnut.com/l/_1CKH1oSyTAgo

° Watch Video Solution

142. AT IEHI6 XONpd Ofed [EFH D
M3 AR, dfetGHa x|635$ Ofe Ady o3 I
AF6 IS UG MYTIT 1 8 82 YTif5 Bict

GIAT (BT BfFed ANE, B TYUTi6 @G ifars 37|

° Watch Video Solution

143. Aty dug fdde ofesfag M., "or.."

aPifesfa fRdy @t : I dnaricge v &,


https://dl.doubtnut.com/l/_1CKH1oSyTAgo
https://dl.doubtnut.com/l/_WRJGQWvoBIBk
https://dl.doubtnut.com/l/_T7D2zfiIxRCX

oW AT SIgFoIE TRl

o Watch Video Solution

144. Ay dug fdde Sfesfag <M., or.."
OIPjfofer fAfy Bl : IM x = 5 2T, BE x+3 = 8

W

o Watch Video Solution

145. A dug [ddie Sfesfag gm.", "or.."

apfosfa fAdy awr : Im iy difse s,


https://dl.doubtnut.com/l/_T7D2zfiIxRCX
https://dl.doubtnut.com/l/_cuc0zlAosuw2
https://dl.doubtnut.com/l/_rQ4zx0sO7meb

O (T doe|

° Watch Video Solution

146. A dug [ddle Sfesfag gm.", "or.."
aPjfesfa fAdy Tl : dod @ TAGH Id©

W, I O IO AT S|

° Watch Video Solution

147. A oms Ede ofesfag i, ©r.."

opjfosfd fAdy a@r : IW @A voged


https://dl.doubtnut.com/l/_rQ4zx0sO7meb
https://dl.doubtnut.com/l/_EpvZNslrIeXF
https://dl.doubtnut.com/l/_BF5ZTeQz72hz

dMb 9@ MGYfce IE, OW) BQEGb

BB BB 2@

° Watch Video Solution

148. \I(64 df6G%@ 1o dW Of& p 8 q @3l
IR | [EXIo3bd Amwiats "I a3e (@deTata Im

JIRIT IW dfeGH@ p 8 q SfF 1o NIF IEI :
p: I 9B FGS M@ 27, B aft aFH

ATOEHa W , q: ITM 9B vugs ToEha

2%, O afb P I 2@l

° Watch Video Solution



https://dl.doubtnut.com/l/_BF5ZTeQz72hz
https://dl.doubtnut.com/l/_ti2nE3KoDQR1

149, Fo7 dfoasa 4o W Sfe p 8 q M3
otz fFXObd SwTafg It a3 (@Jerdia I
IR IR dfeETH@ p 8 q SfF 7S 3T I -

p: IM (BIAT ATOGEHa aB0 I(EHa 2T, 9 99

BIJ(G J192 TIH @I , q: IM (BIAT BIITeEHEad

4 5 J192 ITIA 77, @ aft aBH G a 2@|

° Watch Video Solution

150. AI6d dfoGH@ 1o I SfF p 8 q ¢sHl
IR | fgXIo3bd Amwiats "I 932 (@JeTata Im


https://dl.doubtnut.com/l/_ti2nE3KoDQR1
https://dl.doubtnut.com/l/_JtfUyhX7wZG2
https://dl.doubtnut.com/l/_Aj3F9dyyvpVh

J1ARId I df6EHE@ p 8 q &fe 7fb Y@ FEI :
p : IM (PIAT ATl WYY YT n-99 AF3feTd
MATE 9 BT fASow 27 ©@ n SRYIIG 9 7Tl
fIGIoT 2W@l, q : M aBB 4RI OIS YTt n, 9
gl Reton oy o Meuiifoq argsfe assfaq
THET T gt 9 fFeioT 2@l

° Watch Video Solution

151. AI67 dfoGFH@ 3o W SfF p 8 q ¢sHT
o2l [GXIo6d Iwials Th 932 (@deTara i
IR IW feGH@ p 8 q SfF 7o NIF IEI :



https://dl.doubtnut.com/l/_Aj3F9dyyvpVh
https://dl.doubtnut.com/l/_fq622m5IRjol

p : I ABC 9B(G NAHT fags 2, O faglod
ofd% @G 9477 AH W@ , q : M ABC
fagiord Gfi® @195 9™Iq NI 2, B[ ABC

fagaifs it sufaare fags 2@l

° Watch Video Solution

152. A16d dfotsa 3t W@ Sfe p 8 q @msHl
IR | [EXIo3bd Amwiats "I a3e (@deTata Im

IR IW df6GH@ p 8 q SfF b NIF DA :

p : IM (BIAT QIO WNLD BIDT AND, O ©Id


https://dl.doubtnut.com/l/_fq622m5IRjol
https://dl.doubtnut.com/l/_4s8qgikMF0tR

YD ©fo YBEI |, q : IM (@IAT @O TNdd

©fo YD, B BId BNLD BIDT AP

° Watch Video Solution

153. AI6d dfotsa 3t W@ Sfe p 8 q @3yl
IR | [EXIo3bd Amwiats "I a3e (@deTata Im

JIRIT IW dfeGH@ p 8 q SfF 1o NIF IEI :

p: AW (OTFIF A WA+ W, ©W QfF T.V. Wit

q : IM QI T.V. W, K (OIFIF A ST 27|

° Watch Video Solution



https://dl.doubtnut.com/l/_4s8qgikMF0tR
https://dl.doubtnut.com/l/_NbpuDrks9Ca8
https://dl.doubtnut.com/l/_jLXQHrnBcR4l

154. AI6d df6GSE@ 1o I SfF p 8 q ¢sHl
IR | fgXIo3bd Amwiats "I 932 (@JeTata Im

IR IW dfeGH@ p 8 q SfF 1o NIF IE! :
p: M A 3B NIN 6 27 ©W (A C B a2
BC AW ,q:IM(AC BAaRk B C A) 7T,

B[ A 8 B b 1A CT6 |

o Watch Video Solution

155. " M., OE." AP[© IARIF B IO

goTpic @SB Sfe g I 97T @l -


https://dl.doubtnut.com/l/_jLXQHrnBcR4l
https://dl.doubtnut.com/l/_owt7vYIIXBzl

(H%"A(ér@\" (ATO AT (OIS BP] Ad

SR WATYIN BA© Q|

° Watch Video Solution

156. " ¥M.., BR." AP[f6 IR BE G

AoTD6 (5P OfF g IR AT (@7l -

(BT ATOoETH g A6 ISGHa 2@ I ©Id 5iaf®

q19 A 2|

° Watch Video Solution



https://dl.doubtnut.com/l/_owt7vYIIXBzl
https://dl.doubtnut.com/l/_PQI1rmY1SxQ0

157. " M., ORE." TP IR IE b

AoTBIb [IfSIB Tfes A B AT (@I : ©fy
aB6 BB ¢Ige I 9L 77 (@IFiF [RI

GRAMB AT G YJ SITET|

o Watch Video Solution

158. TM., "OW." GAP[© JARIA B AIG

AOTRI6 (F1f5IP SfF QA BE AT (Tl : (el

9fieT® 2 IM (@IeTara IE =

o Watch Video Solution



https://dl.doubtnut.com/l/_v0SEICLxXy6c
https://dl.doubtnut.com/l/_dLHcrV0SNio4

159. " IM.., OW.." AP[© JARIT B AIG

AOTR6 (TSP OSfF Ao IR AT (@7l -

Ao I AT TYAR JF AT

o Watch Video Solution

160. " M., TR." OIPffo IdRIT BE AIG

AOTH6 [ ISP Tfes Ao BE AT @1 : 7fo

OIS HRYTT x 8 y-a9 BIped SﬁWﬂQWI

o Watch Video Solution



https://dl.doubtnut.com/l/_dLHcrV0SNio4
https://dl.doubtnut.com/l/_Su8fxIDHzX2g
https://dl.doubtnut.com/l/_qylkrjrHO1gH

161. IM., "OR." GAPfo IR IE B

JoTD0 (5P OfF g IR AT @l -
ABI6 AP FifeTd eI x [REST

o Watch Video Solution

162. M., BR." AP[© JdRIA IE B

AoTH0 [@f5IP Tfes AgF B I @l @ n?

B0 (GG YT 2T TUA n YT (Sl

o Watch Video Solution



https://dl.doubtnut.com/l/_A0b7NSeB8aQD
https://dl.doubtnut.com/l/_pRC9CXwwFbGz
https://dl.doubtnut.com/l/_xk2WDQnV4WjW

163. A6 OTHIG Qi Tfea Tt Sfenfa

AT Q3R SfEBTEAT JoT AT TAAT It : I (@ IEAT

fagS ABC 441D 2%, ©([ fagaib 49 2[|

o Watch Video Solution

164. A7 SOTHRIG (G5B Tfed Tstext Sfenfa

(T AR SR Sto7 AT {7 Jet : I ofy

GIAO T3, B[ QY SIAod 9PGH ASHID|

o Watch Video Solution



https://dl.doubtnut.com/l/_xk2WDQnV4WjW
https://dl.doubtnut.com/l/_cA7AniX67DDc
https://dl.doubtnut.com/l/_TafdEf8bfwGu

165. A6 AOTHIG Qi Tfea Tt Sfenfa

Tt 932 CfEITAT J6T7 AT fHAT AT : x = 3 932

x=473d 222 — 5z — 3 = 0 TJBId ST

o Watch Video Solution

166. A6 AOTHIG QI T Tt Sfenfa

Tt 932 SfERTet Yo7 At fFUT et : I 9B
STt 9-99 Rf9Ed 7Y, B YT 3-97 BfTod

(|

o Watch Video Solution



https://dl.doubtnut.com/l/_TafdEf8bfwGu
https://dl.doubtnut.com/l/_poBTHzjZ3gPI
https://dl.doubtnut.com/l/_EqYaEO3gRCk5

167. AI6d dToTHI6 @ Ifsie Sfag Tatext Sfenfa

@At 932 SfERET Jo7 At fAAT It - aBH

OIS TRYUTIF 5 GATID @A HATRIG |

o Watch Video Solution

168. AI6d AOTHI6 Ofed Al @t 932 dig

SfERf o7 A fIATT T51R IEl : FADIG! 3

Sidted daidiAt|

o Watch Video Solution



https://dl.doubtnut.com/l/_EqYaEO3gRCk5
https://dl.doubtnut.com/l/_iPecxzYgVlcW
https://dl.doubtnut.com/l/_YQBxPAgP1Vi1

169. AI6d dtoTHB Ofepd Al-fag @t 932 dig
SfeRfT o7 AT YT TI5le Bl : 4 932 7-99

TSI JiH 13

o Watch Video Solution

170. 67 droTho Ofed A-fadr @t a3 dig
Ofesfe Stor At 3T 5l @t @ @ @Al

TSP NLUT N (G A0S

o Watch Video Solution



https://dl.doubtnut.com/l/_YQBxPAgP1Vi1
https://dl.doubtnut.com/l/_f640bcQlQESy

171. AI64 doTBI6 Ofed AT @ a3 1%

— —

Sfeafel STe7 At AT 161} Bl . A7 &BIAT

IO ERa (A2 T ToTh6 18 TTIA|

o Watch Video Solution

172. B AOTHI6 Ofed -l @t a3 18

Sfes3feT STo1 AT fYTT 612 BE! : (T @IAT fage

P RIEEIERR R

o Watch Video Solution



https://dl.doubtnut.com/l/_BUJgBZ8YkOl0
https://dl.doubtnut.com/l/_YA0jGaXi0Aln
https://dl.doubtnut.com/l/_jfFLwmdot9hV

173. SIGAIT 8 AT (necessary and sufficient)

T3feT IRIT I AT gng s ofe 3o

QA B AT @I ()N TS YT (G 2@

IM 972 (@ITdiagm N? (&G Ut 2| (ii)N
SIS STRYTITG fATSIG 2@ I 93 @SITaTaT ™ N2
AT STt 27|

o Watch Video Solution

174. A dng @ifse Sfesferd @yt (validity)
AI61? BEL(i) 264 TG 11 932 12 97 BfTED|

(ii)195 S7eYTIfB 13 932 14 97 BfFod|


https://dl.doubtnut.com/l/_jfFLwmdot9hV
https://dl.doubtnut.com/l/_sIf7HYOc2zDv

° Watch Video Solution

175. AN gmag @ifs1s Sfesfad @9et (validity)
IJEST BEN() 180 MG 4 @A 5 a7 a9
fded| (ii)2-3i MYUTIG 9BI6 IBI YT «AJT
936 Sifber YTl (iii)98 eYTifo3 @\Adt 4 a4

SfTod|

° Watch Video Solution



https://dl.doubtnut.com/l/_sIf7HYOc2zDv
https://dl.doubtnut.com/l/_EdAXs33iR6GV

176. 9914 & ([, TSP Sfes "IM x 3 y [RSIG

S YTl 7Y, B xy 9B6 [SIG WLS YT

3" W@4(valid): (i) [RPF 9dAISd  d%fo

(contrapositive method) TSI |

o Watch Video Solution

177. ARG @ifsdd Sfe o7 Af fFLTT TI612
@AM a 8 b B R[ASIT BB 52T =T, B

(a+b) 9BB (TG BIUS YT 27T

o Watch Video Solution



https://dl.doubtnut.com/l/_tGAF2pfoedRB
https://dl.doubtnut.com/l/_ZTNu6q5HCZCz

178. 91 B!, M x @ y 76 WYS YTt 99~ 27
@, xy AB6 (ST OIS FeUTBW x 8 y 97 JLF

PIACS D0 T (S TYS 52T 20|

o Watch Video Solution

179. Rem-4ATaId(contrapositive) d&mfo  €ist
IW SIS @, AFfefde @ifsd Sfe Jor: Im x
A0 SIS STRYTT 98 2T (T, x 99 FIF aBI6 (ST

YT, B x* 99 IS (GG 2@

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTNu6q5HCZCz
https://dl.doubtnut.com/l/_aLoNWP89sNeM
https://dl.doubtnut.com/l/_LrQOY7KuBAk1

180. d¥lF @ @ AR W\é
(biconditional) Of& JoT: "&IUS YT x ASIG

2(d IM 932 (SIeTHadMm x* SIS 27"

o Watch Video Solution

181. fA(Rd G¥OYpd Sfzd (@9ol UGl BN

(i)' 936 fager e 2@ IW 932 (@HIeTqiagm

fagai® spxIbfe 2g|"

o Watch Video Solution



https://dl.doubtnut.com/l/_LrQOY7KuBAk1
https://dl.doubtnut.com/l/_4IiaaTtFvBC5
https://dl.doubtnut.com/l/_luGTxofBVgmp

182. IFIREIY AwfOF AT 98717 W @, /5

SRYTIfG wigety|

° Watch Video Solution

183. FIbd Ofpd @Yol S99 IAd A7
JTHIREIY SHG Srgist S "I x 9B BT

T OFA T (T x>5, Bl 22 > 253"

° Watch Video Solution



https://dl.doubtnut.com/l/_luGTxofBVgmp
https://dl.doubtnut.com/l/_Klfck24EO6aK
https://dl.doubtnut.com/l/_NFUavKSSbeoU
https://dl.doubtnut.com/l/_8O8FWHH8o0lU

184. STIAEIY dmfod gt AT Sfed ([d9el
qI512 IR "9BHB BT AT 932 9F6 &fod
QYTIF TS aBI6 Sifbet 3L 77"

o Watch Video Solution

185. 936 df6 THledd (counter example) T
g I @, Aod ofe FAm " 9x*-16=0

MBI (-1) 932 (-2) FLT (BIEAT AS FR)"

o Watch Video Solution



https://dl.doubtnut.com/l/_8O8FWHH8o0lU
https://dl.doubtnut.com/l/_yPRzKNRLszOX

186. (FIAT fagiod @I oAb 97=a S o

fagaib M-S SR @, SfFo fFdT|

o Watch Video Solution

187. a6 af6 TMIRATIT (counter example-a9)
RIET 18 (&, fAtET @ifsid Sfe o7 A7: "Ifh x
8 y 76 IBI MY W, 0@ x’=y° HAFds

(implies) x=y A8 J1F|"

o Watch Video Solution



https://dl.doubtnut.com/l/_Pjp6SQwqjH8R
https://dl.doubtnut.com/l/_GO3TUgJZUA6Q
https://dl.doubtnut.com/l/_zzYNTsyiXp9u

188. A6 GfefeT wiitdlp: JHIR WA ASHA
ToIINED AN g: 37 9B6 Fom AT @It

96 &getn AWTlr: 7 YA 8-97 fed

125 s : SO OgoEHa 96 bues wAdt

BB YT TGO SEBIT T (BIAST So7?

Answer: A::B::D

f _ 1


https://dl.doubtnut.com/l/_zzYNTsyiXp9u

Watch Video Solution

189. A167 Gfea3feT witdl:p, 4 aB6 PN @FifTD
SMeTllq: 6, 12-99 BB TAMBIr: 4 932 6 -99

SI5T183 2 161 (SRR ST AT ?

A.(pNa)
B.(pVgq)V-r
C.~-(gAT)VDp

D.-pV (gAT)

Answer: A::B::C


https://dl.doubtnut.com/l/_zzYNTsyiXp9u
https://dl.doubtnut.com/l/_vikFjEHBtkam

O Watch Video Solution

190. “Im &ifg 3% d 22, O Wify aH6T f[Ausiery

B B ARAIIE Sfe3fed @Asfa 39wd
Sfeiod A-fadt Sfe Aq2p: A1 wiify 3% 23 At
oify fuiieTy 199 $1q: Aify %S 29 Al
ORI f[uTieTy BI97 $I9 Allr: ST PFBHS 29
a3R I famsieTy B9 $9 Alls:27 Wify FBHS

2q AT O Sify fautiery Bisd 39 Al

A.p


https://dl.doubtnut.com/l/_vikFjEHBtkam
https://dl.doubtnut.com/l/_2qajoowQODHH

Answer: A::B::D

O Watch Video Solution

191. ABI @RS Sf& AT 2(i) 3- 2 = 5 (i) 7o

3G U3 (iii) ©fy B JAHTT?

A. (JeTdla (i)

B. (PJeTdIQ (ii)


https://dl.doubtnut.com/l/_2qajoowQODHH
https://dl.doubtnut.com/l/_ylCqp1xTmB1D

C. (PJeTHIa (iii)

D. (ii) Q3R (iii)

Answer: C::D

o Watch Video Solution

192. N4 Sfeafa Widhp: U7 ITF AT q:

g Mo Fdel Sfesfad @ifsie ofe “aus
TS SO AR 994 A7 @ Wi e
A" @RS Gifse Sfabrs 9wt FE

1?7


https://dl.doubtnut.com/l/_ylCqp1xTmB1D
https://dl.doubtnut.com/l/_THCfQVayZw9w

Answer: B::C::D

o Watch Video Solution

193. I I, 'AD6 dATard JhHredi @iferd e[
IM 932 BIATTG 1 WAQT 82 NYTiS It WIig

@IAT Ssdmp MUTed At AitdIIm aBH


https://dl.doubtnut.com/l/_THCfQVayZw9w
https://dl.doubtnut.com/l/_v0tDrqnL9f5r

Jf1eTid 1 932 8% Mo AW &AX (@IEAT

TS Al AIE O Yo @ifas a3 Sfsio
521 il Sfeibd

A fIddio (convere)
B. [Ae@® g d(contrapositive)

D. (BIHITB2 A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v0tDrqnL9f5r
https://dl.doubtnut.com/l/_v9A7tYKybItK

194. ¥ I, '9B0 4D et @ifersds 2@
(@PJeTaia T 1 QAT 3% TG IS BIig (BT
TRAMB FLTIBF AT LB I AW (BIT LTI 1
a3e 82 eYTifB I BIAT (BT TAD D B
$edrife @tferd A7 a8 Sfefb arqmem Sfgiie
Sfeibd

A faadte (convere)

B. f[q®m 4B (contrapositive)
D.¥M 4932 (@ddqia TIMm (if and only if)

SEAIGE]


https://dl.doubtnut.com/l/_v9A7tYKybItK

Answer: A

o View Text Solution

195. ¥H IQE! 4fo Sf& 2eip: I dIRTIq: I

ST MO 7RI 28T nd (O BIIT AT

AT’ 93 S ibd QT 24

Ap=q
B.g=1p
C.p&=q

D.p A q


https://dl.doubtnut.com/l/_v9A7tYKybItK
https://dl.doubtnut.com/l/_Qsbx430pgIwC

Answer: B

o Watch Video Solution

196. TH IE! 4fo Sf& 2eip: I dIFTIq: I

GIteT! (RITO |' I 17T 932 oid o' Sfeitd
HAYTf AJ—

A (pV-p)Vgq

B.pA\q

C.pV(pA~q)

D.~(-p A q)


https://dl.doubtnut.com/l/_Qsbx430pgIwC
https://dl.doubtnut.com/l/_Ew3j5F8DNOPz

Answer: B

° Watch Video Solution

197. afefs drid Qe wft Adr @R [y
fBtd(AB,C 8 D 99 F(YY) NOPSIE@ IR H?
{330 1919 4t @It ST aFft Ofe 1f7gfe2- aft
{6 Sfed [REISH|

A. Tgfe 1 51f5e1 fagfo 2 e a3e fgfo 2

faqfo 1 a3 5fda


https://dl.doubtnut.com/l/_Ew3j5F8DNOPz
https://dl.doubtnut.com/l/_KSGD88EnmbAf

B. [agfo 1 8 faqfo 2 515 gde fqqfo 2 f[qfo 1
A9 A5 YT A
C. faqfo 13150 a3 fqfo 2 51fdd A7

D. fagf© 1515 Y fAgfo 2 76

Answer: B

o Watch Video Solution

198. €fofb drdq Yo Wo Ad @ [5G

fBrd(A,B,C 8 D a9 ) NFBeI YT BE7HN

—

PQI p,q 932 r f6AT6 SfF-Afo 1: p/\(q\/r) 9T AT



https://dl.doubtnut.com/l/_KSGD88EnmbAf
https://dl.doubtnut.com/l/_gp1CuOsAhmVd

f@Ti~p\/(~q/\~r)IfGf@ 2: p\/q 99 AT f&TT (~p)/\

(~q), 932p/\q 99 At f&T(~p)\/(~q),

A f)gfo 1 Afda1 fQfo 2 sifde aae fgfo 2
fqqfo | a7 IfSd It

B. faqfo | 8 faqfo 2 51fdd ade fIqfo 2 QO |
a9 &S JYTT 7Y

C. fqfo | 75d a7 f[qfo 2 51fdd AT

D. f3qf© | 75 77 faqfo 2 A5H

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_gp1CuOsAhmVd

199. FREIYGIT AT a9 IE@ &, "5°(1/2)

9BIB FeTu YT A"

o Watch Video Solution

200. ¥ I, aBI6 Y6 p: ABC 9BB Tecpia
fago 932 g a6 Y6 q:ABC fagrew,
AB? + BC? = AC?*IfAta ffesfa ser At

AT IR S :p AT q (p = ¢q)

o Watch Video Solution



https://dl.doubtnut.com/l/_gp1CuOsAhmVd
https://dl.doubtnut.com/l/_bDpPTLrsRqVu
https://dl.doubtnut.com/l/_3qEcJcnA445x

201. ¥ IE1, 9B GG p: ABC 95 STH@IAT
fags a3 @eg a6 QYo q:ABC fagew,
AB? + BC? = AC?*IfAtae fqfesfa ser At

AT A1 SWI :q 2T p (¢ = p)

o Watch Video Solution

202. I I, aBI6 Y6 p: ABC 9BB Tecpia
fago 932 @ a6 Y6 q:ABC fagew |,

AB? + BC? = AC?*IfAta ffesfa ser At


https://dl.doubtnut.com/l/_3qEcJcnA445x
https://dl.doubtnut.com/l/_2uEUrXFhUplu
https://dl.doubtnut.com/l/_ztdrXwfpJk3t

AT AMB1R Bl :p SO @ TM 932 (PIeTdIg M

q JO7 Y,

° Watch Video Solution

203. 7 I, 9316 GG p:ABC aB6 Sttt
fags a3 @eg a6 Yo q:ABC fagwem,
AB? + BC? = AC*IfAta ffesfa ser At

AT Y612 SWI :~p A ~q(~p = ~q)

o Watch Video Solution



https://dl.doubtnut.com/l/_ztdrXwfpJk3t
https://dl.doubtnut.com/l/_BZDUoJADoKX9

204. SFEIREEGT dmfog dgist Awa ofeiva
@G 612 SE-"aHB6 BT YT 8 9FB Sfoa
STRYTIA STATS QBB GifbeT STt |

o Watch Video Solution

205. fAtRa gug @ifsis Sfeioa [duet 612 BEil-

"72 1B 4 932 9 Terd Bftod!”

o Watch Video Solution



https://dl.doubtnut.com/l/_HFGdFJup1ylm
https://dl.doubtnut.com/l/_WXIdfYSyIayy

206. fATTd dng @ifsis SfHiod (get T6T2 Hdi-

"120 eI 15 932 9 To@d ftow!”

o Watch Video Solution

207. IR dmfote aaq1d &I ,,/5 936

T eTh SRYTTI

o Watch Video Solution



https://dl.doubtnut.com/l/_SkK38H4omFfN
https://dl.doubtnut.com/l/_EywRQakYlY2V

208. JOTol AIAT DRI ARIFT AT Il

-(pVag) = =-pA-q

o Watch Video Solution

209. N4 JPIBAT AL/ DT (@ALDA

JBI 7T x AT STz >

o Watch Video Solution



https://dl.doubtnut.com/l/_y8r8kIfjwAX5
https://dl.doubtnut.com/l/_Pp1FGk3Svd6h

210. N6 IPIBAT AL/S IDT @A DA

JIBI YT x 99 GAT x>1

o Watch Video Solution

211. Mathematics is funaft a6 Jfe & At
AIBHT S|

o Watch Video Solution



https://dl.doubtnut.com/l/_iAteZymGqACk
https://dl.doubtnut.com/l/_zQ2iLLr5nDAE

212. [A@m 9AMID 9mfod  (contrapositive
method) AT g1 FE—“TM x 9H6 ALT
STRYTT 932 x*2 fATSIG 2T B x a9 Fi43 [RGIG

FIG N

o Watch Video Solution

213.-S V (-r A S) Sf@d At f&dl (negation) 27

ASV(rv-S)

B.SAT


https://dl.doubtnut.com/l/_8a37HWWPPopg
https://dl.doubtnut.com/l/_C3DoOlJepVoV

C.SA-~r

D.S A (r A ~S)

Answer: B

° Watch Video Solution

214. (p/\~q)\/q\/(~p/\q)Sf&I6d STHwer Tfe 2e

A.~p/\q

B.p/\q


https://dl.doubtnut.com/l/_C3DoOlJepVoV
https://dl.doubtnut.com/l/_SsO9Aw9pe6J2

C.p\/q

D. p\/~q

Answer: C

o Watch Video Solution

215. 9%8 Gf& (p—>q) —>[(-p—>q)—>q]

A. 99 T Qe Ofe -p—gtq
B. 99 ¥ welt Ofe p—gt-q

C. aBI6 @FIey (fallacy)


https://dl.doubtnut.com/l/_SsO9Aw9pe6J2
https://dl.doubtnut.com/l/_dpdr64hV4YQa

D. 935 BB (tautology)

Answer: D

o View Text Solution

§

216. 9M3 Gf& ~(p A q) V (~p A q)I HT QTS

5c9-

«



https://dl.doubtnut.com/l/_dpdr64hV4YQa
https://dl.doubtnut.com/l/_XkC6ze6qFy0U

Answer: A

o View Text Solution

217. I Q¥ Sd© T o9, ©[@ QY SIded

q5tfdd — a2 Offod [IeT - 4Agd Of 3 2e7—

A. T @i GIdTE ST I, ©W[ QT Sitod

AMsfaS A8


https://dl.doubtnut.com/l/_XkC6ze6qFy0U
https://dl.doubtnut.com/l/_PI7E5CrP9GUR

B.IM TfF SIA® ST A I, ©W ofF
GIqrod AlSIID 43

C. M ofy Tidred A1fdF 28, ©[ T SId©
SARY P

D.IM Q¥ SIqrod AsIRS AT 28, oW ofy

GO SR HAA

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PI7E5CrP9GUR

